November 14, 2018

Math 115
Fall 2018

Lecture 14

2at% b%g @2?

Feb 19-8:47 AM

Some_ ?eview:
O Sind eqn oG o lkne that Contwing (4,-3)

ond Pormllel T 4 =@X +2. Guaph both lives,
m - g‘ =M (1’—7()

Y —3 = 3 (x=-4)
d+3-= -J:cx_q) \\

geaprrg x
&= LTxr2-3

(8- Tx1

Nov 14-6:03 AM



November 14, 2018

g\‘nA S 0§ a line that Confains (—6,'-\\ and

3x +23=-6'

Nov 14-6:10 AM

Find e B oS o \ine thadt

o) with  Zevo S|o]>€,

b) With undefined Stope_p, aq > [X=-5]

c) with %\o\)e _3%_

Sonfouns (-5, —3)

3t

d - dy=mCx ")")
4 -3 = 5 (x=5)
~ >
443 - %(xﬁ)
43z X
W- =X

Nov 14-6:19 AM



November 14, 2018

Graph & Shade: .
O x> 2 1 Dy> 2
— )
T
éé] Q_([_ﬁ‘_@»
(3 ax- ENE
-39 44X x\2 .
9 L Ex g Q\\\\
3 < x-y \\\\\
55| B
AN

Nov 14-6:24 AM

Goraphe £ shade the Solufron

Nov 14-6:31 AM



November 14, 2018

Selve \:a %mf\’\iv\gt

2 x ~33 =6 /
8= %% 1 K /
e/\\Q\ B
?:V No So\vjﬁovl

when mo  Selution:
. The S\(shwx is  inconsystent.

. E"‘-\)a‘\‘(oﬂ s Owe \‘nc\erc\eV\t

Nov 14-6:37 AM

Solve \:a Sobs. method:
Ix —2y =4 374—2(%X_9_):%
3IX — 2-%><a8(~2>:“
3x - 3 4=
4=
Trvue
In Sinilely meny
So\uh’O“S.

4= 3 x -2

when heve ave
(ndt ey oy Solutions
» SY stewi U Cov\s\‘s‘rmjf
. Equatims  Ove depen ant.

Nov 14-6:42 AM




November 14, 2018

Solve ‘oa addition / e limination method

s\ 3x —24 = (3 ISx _— (O™ =465
30 Y
2 4x *582& sx Y104~ 4

—/— _
23X =63 |x=3
H(3) 59=2 12 y\5Y=2 54-=-10

2
Solution (3,*2) or 3(3,-2)3 @

when Pave (5 eXo«cJT\B one So\uﬁow,

SSxstem 1S Consistent
. EerUaJ!‘"oms ave \_V\AQFQV\AQYA".

Nov 14-6:47 AM

The Som o  two Mmowmbes s -2,

Then A Fhevence vy e X Y a )
' bevs.

g’\v\c)\ \DOﬂL nowm g /X B a o

You wmust Use Ststewm 9

\Wwea e,e(Uo\Jnow s In -
Vov-vables X =5

1\\& Y\\lw\\oe\rs ave
S &£-1.

Nov 14-6:54 AM



November 14, 2018

Two an)\es ave CO“\?\EW\ELY\JYO\Y‘('S-

R ﬁvv\es ove 0S5 thewm ?\US Fwrce ‘VLL oTLu/

one 1S 220
Use  Systewy oS linear ec(uoxjﬂoms

o wribles T Sind bl 3oy 2020
>
angles kY- SO0 — B:CTO -X

X x 4=90

\a; S0-40

3x +2(50 -x )=220 D\éﬁo

3%y \KO _ 2% =220

Nov 14-6:59 AM

Two arngles Qve Suff\emevﬁwg,

5 fimes one o3 themt  less  Twice o ofhev one

—_—

\\5 Yl Do ?/ o N 3 _ \%O
USe S\(SJYQW\ og lineav G%umlr\'ovlg
n +wo \}OUr‘\b.\g\eg JG ;(V)CA ‘DOTL C\;'X — Za = L‘HO

ang\es. E’ZX X 8’3:360

S'X _,2\6: L\|O S
X -~1\10 gv \'

"X_;“O!—‘? 63_]

Nov 14-7:04 AM



November 14, 2018

Mmrn boo&h’f

Black ond Bd owly.

Black <osts $5/box
Red  costs ¥%/ box.
Use System oF linear

CGms in Ywo Vavriables
% Smd how many hoxes
OS_ eQC\'\ Colo\f.

Total Cost Was  HIES

30 boxes o> markevs.

(2 Red Boxes

1\ Blacdk Boxes

B AsR:-30

5B + SR = 1S9

5B —-5R= 150
}_SB ASSR =B

2R = 393
|R=-13)
G-

&

Nov 14-7:10 AM

AC2,-6) , B2
ODrw AB
@gi\(\c\ C\([‘},,B\)

4= x
J Gy s (62
B

%) % (Y, - %)

@gmcl M od PcﬁB
OS'(V\A w % &—B
\g ( 2’;:1 "Qi); (1,2

m= —6 -2 _ —_?6 :E]

2 -4

; A

¥ dooe
Al = 3eret
o {10J

Nov 14-7:35 AM



November 14, 2018

G)mp\'\ Usma ir\Te\fcefan me Thod *

5X /38:—30

XY

O\ 1D

e /
wvte OXx +2‘a - N S\OPE’XYLJY S;OWVL/
T\\VV\ Q\Svo‘"\)\l 26 :*5)( "\'%

Nov 14-7:43 AM



November 14, 2018

Groph 4322 (x 15) Using Puiat—slope
3 -S

g‘ovm.

write The e oS this

ine v S\OPﬁﬂ_j‘“\/ ‘:OYWL

as  well as SJF&V\A- Cov

with wo g\mc Jn‘on S.

o

Y-23= é_(x{_g) p) 3X ‘45:—?7 Standavcl
' Sovm
4y — 12 =3(x49) 4Y=-3x 21
—12:=-3 15 _ -3 Wl
Ltg \ X + 3:%7(’%;(‘_ \3_4)"1
—3x +4Yy =21 Slope—Int-
G/rmf\\ 2!1 S\r\m)e
Ot | ® Y6 9k
=
BN
=
G
® 3x -24(3
—26{—3)( £ %
9y S x4

Nov 14-8:00 AM



November 14, 2018

Class Quiz
@ &(T\o\ e o ¥ a line that Contans C_gluq
wi Th S\oFe 2. 3—35 m (Y—M)

44 =2 (¥ 75)
Y-4=2x+10 MLZX +H,

®) Graph ¢ Shade  3x-54 10
-54{3x v 0 P

3
3)-,%—?( -2 ////

~
7

S

Nov 14-8:10 AM

“Transiake 6“\6"

ng wmovYe J\‘\f\o\\/\,

6 Himes %Cquure voot og' gne movt NGH

S eovwx\ & ﬂ\%redu(e&

oy -5,

3~f/xj =X —(9)

Y

3 {x =X 45

Nov 14-9:01 AM

10



November 14, 2018

A/ o5 (What mombe] s 10

P b
0y whele 24X = €0
\%0
™\ -
100 X .
AYXx =100 (150) X =150
~ - 100 (\%0)
2\
x =190

W/ o5 150 s KO.

Nov 14-9:04 AM

mO\\"\Q \)SQA %.CJ CU‘JS o% S\)?SQ\Y AV rW\C\\/\e,
<0 "mog-g’w\s, \Ss\r\c‘svo\*\’o/ Low mm\\:\ Qqu

Q‘QQV\ ?
qu Suaoo( “{\Q,QA@A 1 bake 200 mv 9

4.9 Cu\>s SuSGM ’X (u?s Soav’

I N
/ . -
O Moins 200 qmu%‘ms
5. X Q0x 2200 (4.9)
gy 200

_/200(“\5) Yol
11,29 CUFS og- S\)So\\/ need ‘ O
‘/\/

Nov 14-9:08 AM

1"



November 14, 2018

A Condudate Yot 2oo Voles on tha lash
election . She ao‘r 5 times 4 of Vofes oS
Repubicans  Srom Tndependents.

She ot 2000 mmove than f0 Fimes The
Re publiams Svom Democaats. How maniy
Uotes Svow cach Oroup A she gt

~
x ) 5x + /0%y 2000 =200
[6x =200

uUs0 \|o\’es ¥rom Ee?u\)\'\,céms/
2850~ v 1&3@&1\3@:\\5 , andl

Dem oavts .

69500 Votes Srom

Nov 14-9:12 AM

g\’nA\ Jﬂf\)O Cor\sequY\‘VC oAA "‘ﬁe‘ﬁirs

ool That D times the swaller ove
S Eﬁt\)o\\ 1 5] wmove Yhawn 3 fimes
o \avopr Ome. Xog kA2

S Smaller = Olavory’ A5%

0.
‘2 0\0\\0"\

2x=64
x=32

Nt IAA

5 = 3(xA2)x58

Nov 14-9:20 AM

12



November 14, 2018

T\‘Le, Pex—'\me\d OS G ‘(ecfox\?)u\mr Caavo\ey\ \S

106 meirys.
T\’Le \QY\S“\ \S N meiwv Shofk{( ‘haw

hovce its width, D
Sind ifs Oven. A

2x -1
V= 106 6x-10%

AL A 2W =106 width = 15m

2(Z7<’1\) 2% =106 Lenzih = 36m -
X —2 42% =106 f=LW = 5‘5(\%):63@

Nov 14-9:24 AM

g'\ﬂ'\s\z Nour

vaf\unﬁ ?rojeﬁ-

Nov 14-9:29 AM

13



